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2 A number when divided by 80 leaves remainder 20. what is the

remainder when the same number is divided by 16?

Tk AT A 80 | forwriSra it ATt aF 919 20 WTH BIAT, 99 T AT
WS 36T AT i 16 W fawTieTg fohar ST 2

1) 2
2) 4
3) 6
4) 8




The sum of first 50 odd natural number is

uge 50 forew ueRftres HEaT T ARt @

(1) 1000
(2) 1250
(3) 5200

(4) 2500




The simplified value of /AT FTA &Y

(1-3)(1 -




The ratio of two numbers is 3:4 and their HCF is 5. their LCM is:
Y HEATST <R STTUTA 3:4 2 S ITRT | 0|7 5 7l Ik T oHTE:




The rajan gives discount of 10% and sold it at Rs. 558. The ratio of Marked Price and Cost
Price is 31 : 25. If he gives a discount of 15% instead of 10%, then what amount of profit he

would have earned.

3STel 10% I e Sl 3 M1 31 JURN 3 Jedl 3l 558. 3ifpe e 3R eI A DI
3T6IUId 31 : 25 31 Al a8 10% D FSIRI 15% Dl B¢ Sdl g, dl 3 fbdell o giem

1.27 |
2.36

3.84

4. 60




A vessel contains milk and water in the ratio of 4:7 respectively. If 33 liters of mixture is

taken out from the vessel and now the difference between the water and milk in the vessel is

24 liters , then find the initial quantity of the mixture.

QP dciol 3 G 311 Ulell cha9r: 4:7 & 3folurd d 3l AfS sciol 21 33 il fdreror foraren

SIIAI & 3113 314 siciol d Urol 311 GeI db dier a1 3iei? 24 cfic 3, dl fdrerur bl urfia
311 511 bhifotu)

1. 121 liters
2. 154 liters
3. 124 liters
4. 341 liters







The value of /A FTa =Y
1 1

+
1+2 P 142b

is




Find the unit digit (122)'"3
SoRTE T 3ieh ATA Y Bt (122)




| 9 The average height of 30 boys out of a class of 50 is 160 cm. If the height of

T —

remaining boys is 165 cm, the average of the whole class (in cm) is:

50 o Teh THE W A 30 TTgoh1 hi 3ad Samg 160 At 21 Af AT oTgent i Fars
165 A &, AT 9Y {HE T 3Had (ST ) B

(1) 161
(3) 163
(4) 164




11
By mistake, instead of dividing Rs 117 among A,B and C in the ratio 23

divided in the ration of 2:3:4. Who gains the most and by how much ?
111

|

T —

it was

Tedt |, A, B 3R C & e 117 30 @t oo o U AR s e s@ 2:3:4 %

¥ frriRrae fomar war am S aE aﬁmma%tsgmm qTeTT 2

(1) A, Rs 28
2) B, Rs 3

2 !

4)C. Rs 25



If the difference between the age of P and Q is 15 years and the ratio between the age of Q and P

after 7 years will be 13:8 respectively , then find the ratio of Q’ age before 4 years to the P’s age
after 12 years respectively.

AfS P 3iiR Q bl IR b dla 1 311z 15 atl & 311z 7 ad |1 Q 311 P i 3R] &b diar a1
3[oIUI SHHQI: 13:8 13T, I 4 aH A Uscl Q bl 3R I 12 i & dIG P bl 3RY A 3telUrd
st difsrel ad saor:| .]

28:29
ALY
29:28
39:29

R DD




Solution A contains 10% acid and solution B contains 30% acid. In what ratio should

solution A be mixed with Solution B to obtain a mixture with 25% acid?
fIrsroT A W 10% o1t TR THYUT B W 30% 30T 21 25% 375t o a1l s gt a6

foru forer e A 3R B Targrot forerran st anfze?
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12 The value of a machine depreciates every year at the rate of 10% on its value

at the beginning of that year. If the current value of the machine is Rs 729,

its worth 3years ago was:

Foret A9t T Ted AT 10% h1 WA TRAT a1 3 0 ugel Hedd T R AfS 3

ayITE 7292 ?
1) Rs 1000

(2) Rs 750.87

(3) Rs 947.10

(4) Rs 800




T —

13 A man bought 500 metres of electronic wire at 50 paise per metre. He sold 50%
of it at a profit of 5% At what per cent should he sell the remainder so as to

gain 10% on the whole transaction?

Teh TS ¥ 50 T Ufer et ¥ 500 Wet sAareii-eh aR WA a7 8,30 3Eht 50%
5% o AT W o T, e ekt foRde % WX SemT ATfet dtfeh T @ e WX 10%

BT TR ST TR ? (1) 13%

(2) 12.5%

(4) 20%




Ticket for an adult is Rs. 1500 and that of a child is Rs. 800 . One child goes
free with two adults. If a group has 25 adults and 12 children, what is the

discount the group gets?

Ueh 9%k o 110 feehe 1500 U § 3T Uk o=t ot f2ehe 800 TUX B . Ueh o=
ST TIAEEHT o TTL HH &1 AT ¢, ATS SR THE § 25 IR 3R 12 550 &, a1 90E
<R T B THerdt 32 (1) 26.47%

(3) 31.60%

(4) 33.33 %




Mr. Dutta desired to deposit his retirement benefit of Rs 3 lacs partly to a post office and

partly to a bank at 10% and 6% interests respectively. If his monthly interest income was

Rs 2000, then the difference of his deposits in the post office and in the bank was :

oft T 7 7T VAT T T 3 TG TUT hT ATH T 19Teh &Y € Teh STHTX H R
Ueh deh W STHT eh{dT & SATH <hl 8T SHAIT: 10% 3T 6% T, AT ATIIR STTST 3T
2000 I o, AT STHET 3T Sk § STAT WIIT hHT T IS AT ;

(1) Rs 50000

(2) Rs 40000

4) Rs 100000




N

18 men or 36 boys working 6 hours a day can plough a field in 24 days. In ho

many days will 24 men and 24 boys working 9 hours a day plough th same field ?
18 TEHT AT 36 TIShI Al 6 T Th faT W T T 24 T3 H T @ T ol TR .

feRar ToHT W 24 U 3TN 24 TSI 9 ©E U &7 o1 Uk &1 W 6T W hir?

a 9
2) 10

3) 6
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17 Two cars A and B travel from one city to another. At speeds of 72 kmph and 90kmph

respectively. If car B takes 1 hours lesser than can A for the journey, then what is the

distance (in km.)between the two cities?

RN A T Teh ITEX T A G H FTAT I 51 69T 72 Tt ufer wie @i 90 et wfer e
HITTE, AR FRBAATH TACA & 1 dSHA oar s, a Fan g0 & (Torwt #.) 2 o1l o offer?

1) 270

(3) 240

4) 400




i |
If n=7+4 /3, then the value of (\/T_l + —) is
/AT T Y

Vn







a+b= 3, then a’+b’+9ab-27




T —

The base of a triangle is 12 V3 cm and two angles at the base are 30° and 60°
respectively. The altitude of the triangle is

frEr R 12 V3 cm T TR W 2L HIUTSHAT: 30° 99T 60° ¥ Byt
TR

1) 24

3) 9

4) 27
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Two circles of diameters 10cm and 6¢cm have the same centre. A chord of the

larger circle is a tangent of the smaller one. The length of the chord is

2 o {9Teh S99 10cm 3T 6cm NTHRT hg THTA B, EI@‘ Qﬁiﬁ‘mﬁ%aﬂ?ﬁ
TAIT G 3§ AT ST hl A8 AT Y 2

(1) 4cm

(3) 6cm

4 10cm




Circumcentre of APQR is O. If Z QPR =55 and £ QRP =75° what is the
value in degree of Z OPR?
ufehg APQR T 0 2 Z QPR =55 31 £ QRP =75° a1 0T Z OPR?

(1) 45

(3) 65

@) 170




The perimeter of a triangle is 54 m and its sides are in the ratio of 5:6:7. The

area of the triangle is .

ueh Frnior Y ufifer 54 wiex & 3R 36k et 5:6:7 o IquTa ¥ 21 Frewior @ &
g

(1) 18 m?

3) 27V2m?

@ 25m’







